AELE 1 B (5 5 &M
T S EEBITETE &M BE

53)

wf 34198 | A

(3udc) HEEmE

GEE RS
SR B —

ZOZ LDV THERBITOEITRNIA S Mg 8 UH B ST 8

BEDRMFE2ZT OO THETHBITEIBMEZTERAES £0R
ELVBEREIEHEZRATHRBEVZ LET,

1 W ERICET SRE
194,913 M

2 WEEI R
155, 9309

3 BREE B D EEBL



BIRLE 2 SRR (58 5 SRBafR)

E AT BB EEENRE
BATR @B & OBE MR
1 FERRE
3 B4 31,023 31,023 [
4 B4 31,194 [ 31,194 [
584 32,220 M 32,220
6 A4 32,904 /4 32,904 H
7 H % 33, 588 33, 588 [
8 B4y 33,984 M 33,984 [
& = 194,913 19 194,913 M
2 MBERTHE
194,913 X 0. 8 =_ 155,930 H
( #iBhx 548 X OB E = #WEh&E )

(R Y #7)



3 ?é'f [#l
e A

BIRCH 1 BER (35 5 4 0947)
TS EREHE BT ETE R & R EE (B

R A RHBEACRT &

DLW TERET OB R AT B U ST BT B
%%@ﬁﬁéﬁﬁtMWTumﬁm%ﬁ%HH%%%&H%m’5%@%
TRV BEGEES R THE NS LET,

1 WiBNERICE T DR
213, 660 M

2 W& HEEE
170, 928

3 BEREE BIHED &35 0



BIER S 2 B4Rl (38 5 4cB446%)

ST BT R B &R E R

=
=
EBITEHEBI & OBENER
1 Bk ERE
X Vil EOR#H # OB X &
¢
9 A4 34, 443 34, 443 M
I
1 0H% 34, 839 [ 34, 839
11 A4 35, 352 35, 352 [
12 8% 35,811 [ 35,811 [
1 B4 36,207 |1 36, 207
2 B4 37,008 37,008 M
& N 213, 660 [ 213,660 @
2 B4 AT H AR
213,660 H X 0. 8 =_ 170,928 [
( #Bhx 48 X % OB E = WEh&ErE )

(MR Y % T)



